2.032 Dymamics
Fall 2003

Quiz No. 2
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Prol:lem 1
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FProblem 2

The S_'ysitrm has ome abf?rce of
Freedom S0 a.-vyée ) Sfccbécs
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(C-’ cemter of mass of the
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No slip: 8A"=84 —» rep=Re & 79=_f_9
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PD’OLlem 3
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For swmall olcfa.r-z‘:«m:s From ezu.i[iln'u.m y /wri.;am‘al amd. vertical mations are u'ncoufldal.
since in the Anri}:mtal ( vcrtica.l) motiom , Vertical < Aori}a'nta_l) Ser'-njs do mot /’/a_y a
/mrt. Fur"t/mrmorc, the two Vertical motions are amcou/,[eo{, This can also Le‘ eas:él

Sl.),ou"-n L_«j using elther L@mnzgian or dircet method.

>
So, we have the Jéllowizy umcau/:lcal iys‘f&ms: {z} = ¢ *2
3
Y2
3k x !
4k o — . 2o

3,1 3ZT

k ' 2k

Now it L5 easy *O_ju.ess the -modes :

Verticall -motion of the mass on the lc/t {a},

it
“
L
N
i
A~
S+
&
h
Q\

Vertical wmotiom of the mass on the riqlrt: { a}z

f
\e
&
NN
[}
~
S+
NN
»
]
l31\iﬁ~




Problem 3

For -t-Ac Aori}ontal maotion,
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